Chemistry 210 - Chapter 5 - Quiz 2

Student:

What is the [IUPAC name of the following compound?

=

A. 2,5-dimethyl-1-hexene
B. 1,4-dimethyl-1-hexene
C. 2,5-dimethyl-2-hexene
D. 2,5-dimethyl-5-hexene

What is the [TUPAC name of the following compound?

(CH;CH,),C— CHCH,CH,CH,CH(CH;),

A. 3-ethyl-8-methyl-3-nonene

B. 7-ethyl-2-methyl-6-nonene

C. 1,1-diethyl-6-methyl-3-heptene
D. 3-ethyl-7-isopropyl-3-octene

How many isomeric alkenes of formula C5H10’ including stereoisomers, are possible?

A. three
B. four
C. five
D. six

What is the [IUPAC name of the following compound?

(|:H4:H2
CH3CH2CHCH2(|)HCH2CH3

CHLCILCH;

A. 3-ethyl-propyl-1-heptene
B. ethyl-3-vinyloctane

C. 4,6-diethyl-1-octene

D. 3,5-diethyl-1-octene



Which of the following alkenes exhibit E-Z isomerism?

1. 1-chloropropene II. 2-chloropropene II1. 3-chloropropene
A. onlyl

B.land II

C. ITand III

D. I'and III

Which of the following C6H12 isomers has the highest heat of combustion?
A. 1-hexene

B. trans-3-hexene

C. cis-3-hexene

D. 2-methyl-2-pentene

Which alcohol below would undergo acid-catalyzed dehydration most readily?

CH,OH OH OH HO  CIL
CH;
A) B) Q) D)
CH;

oOwp
oQw

Which of the following carbocations is(are) likely to undergo a rearrangement?

Cll, Cl;
@ @ | @ |

CH;CH,CH,CH, (IhCH?CH3 CH;CH,CHCHCH;

CH;
I I 111

A. only I

B. I and III

C.II and III

D. LL1I, and IIT

Which of the following expressions is the experimentally observed rate law for an E2 reaction of an alkyl halide?

A. rate = k[RX]
B. rate = k[RX]Ebase]
C. rate = k[RX]



10. How many isomeric alkenes are possible, including stereoisomers, in the following reaction?
\>zr/ NaOCH,CH;
CH;CH,OH
A. two
B. three

C. four
D. five

11.  Which of the following cannot undergo an E2 reaction?

H;C CHBr H;C Br CHBr
CH; CH;
| 11 m
A. only I
B. only II
C. only III
D. Tand III

12. When a strong base is used in the elimination reaction of an alkyl halide the mechanism, in general, is:

A. El
B. E2
C. E1 for tertiary halides, E2 for primary and secondary halides
D. E2 for tertiary halides, E1 for primary and secondary halides



13.  Which of the following would have the fastest rate of reaction to form 4-tert-butylcyclohexene?

H
KOC(CHz)3
A) (CHz);C “ g
H

Cl
KOC(CH;3);
H »
B) (CHj3)C
H
H
KOC(CH;3);
Br .
C) (CH3)C
H

KOC(CHj3);

D) (CH3xC

ER
=
\

SOwp
oOw»

14. Which of the following does not give 1,2-dimethylcyclohexene as one of the acid-catalyzed dehydration products?

CH,OH

H;C CH;, H;C OH H;C CH,OH
CH; OH CH;s
A) B) ©) D)

SOwp
oQw



15.  Which of the following compounds gives a single E2 product on reaction with sodium ethoxide, NaOCH2CH3?

H;C  CH; H;C CH; H;C CH,
Br
Br
Br

1 11 m
A. TandII
B. I and III
C.II and III

D. LL1I, and IIT

16. If the following E2 reaction proceeds through an anti-periplanar transition state, what product or products are expected?

CH
3 KOC(CH;),

. CH-):COH
-Cl (CH3)3

A. only 1-methylcyclohexene
B. only 3-methylcyclohexene
C. only 4-methylcyclohexene
D. equal amounts of 1-methylcyclohexene and 3-methylcyclohexene

17. Zaitsev's rule can be used to predict the major product for which of the following reactions?

A. 2-methylpentane + Br_(with light)

B. 2-br0m0—2—methylpen?ane + NaOCHZCH3 (in ethanol)
C. 2-methyl-2-pentanol + PBr

D. 2-methyl-2-pentanol + HC



18. Consider the following reaction.

R =-CH, or -C(CH,),

Which statement(s) below is(are) correct?

I. X is the major product based on Zaitsev's rule.
II. The X:Y ratio is greater when R = -CH _ than when R =-C(CH.)
II1. The X:Y ratio is greater when R = —C(éH ) than when R = —él—f

A.Tand Il
B. Tand III
C. only II

D. only III

19. Which one of the following compounds cannot undergo an E2 reaction?
A. 1-bromo-2,2-dimethylbutane
B. 1-bromo-2,3-dimethylbutane
C. 1-bromo-3,3-dimethylbutane
D. 2-bromo-2,3-dimethylbutane

20. Which of the following compounds gives 4,4-dimethylcyclohexene as the exclusive E2 product.

H5C CHj3 H;C CH; H;C CHs
Cl
A) B) ©
Cl
Cl

A A

B.B

C.C

D. both A and B
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